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o SENG.1. REX, Y 7 21218, MIFR

E(X — EX)(Y — EY)

y\jX EY E@Tﬁ‘ﬁi%, iaj‘jCOV(X,Y), oxXyYy.
Fioxy = 0, WX H5Y THHxK.
o VE: W7 EAE(E, BN

2(X —EX)(Y —EY)< (X - EX)?+ (Y - EY)%

o HHEH A cov(X,Y) = E(XY) — (EX)(EY).
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o JEHS.1. XX, Y W ZEAFAE, WFK
(cov(X,Y))? < var(X) - var(Y).

o if: #var(X) =0, X = ¢, Tcov(X,Y) = 0.
Fivar(X) > 0, Mg(t) A< 0, Hr
g(t) =E (X — EX) + (Y — EY))?
=t?var(X) + 2tcov(X,Y) + var(Y) > 0.
o T N5.2. B0 < var(X), var(Y) < oo, MIFK

cov(X,Y)
v/ var(X)4/var(Y)

NX Y FIHRAL, L hpxy, BEHNp.
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o EHE5.2. (1) |p| < 15 (2) X 5Y Bhr, WA, Mifip = 0;
(3) |pl = 1 HEALHTE Ea, b HRY = o + bX.
e E(3): |p| =1 M HEA Mg (t) MRNANO, BIFEIELy (515

g(to) =E (to(X — EX) + (Y — EY))* = 0
<Y = -t X + BEY +{EX.

o s fLAMETI (EH5.3): W0 < var(X),var(Y) < oo, NI

min E(Y — (a + bX))? = var(Y)(1 — pky).
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2no1094/1 — p? o’ lop)

o BA: w1 = EX, us = EY, 0? = var(X), o9 = var(Y).
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o St BU4r, v? — 2puv + u? = (v — pu)? + (1 — p?)u?,

)dzrdu.
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O (v—pu)? .
X j ve 20-,)dy =e "z x A/2m(1 — p2) - pu.
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pXY = —J pute” 2 dx = p.




